The following is Quiz #2. This quiz will be open until Thursday, October 15th at
11:59 PM. Please complete this quiz on separate paper. Clearly indicate the
question number for each question. Please show all work and clearly indicate
your answers. Remember, this quiz is an opportunity for you to demonstrate what
you know. You may treat this quiz as a take home quiz. This means that you
may work with each other. However, please do not simply copy answers off each
other. The point of this is to be able to help each other out if you need the
assistance. You may seek out assistance from tutors. Please do not use other
external sources for assistance, such as apps or other websites. You may use a
calculator on this quiz. Once you complete this quiz, please submit a pdf of your
quiz to Canvas. Scan in your quiz using the Adobe Scan app or any other
scanning app.

Quiz #2:

zy—3y—3z+9

(3 points) 1. Find the following limit: lim ) ,3,1) =

(3 points) 2. Show that lim(g 4)_,(0,0) ﬁ does not exist by using the two-paths

approach.

(3 points) 3. Given f(z,y) = 2* + y*. Sketch the level curves of the function for
k=0, k=09, k=25.

4. Given f(z,y) = ze* ¥ . Find the following.
(2 points) a. fz
(2 points) b. fy



> 3 points) c. fiz

(3 points) d. fyy

(3 points) e. fay

(3 points) 5. Given w = a3 + y2?, z = 43 + 6, y = 5t* + 7,2 = 3¢t + 8. Find 2.



